
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 3rd Week, 3rd  Day Multiplication and Division 

Q.No.1. Choose the correct option. (0.5 x 6 = 3) 
i) Divide 9 405 by 95 we get:  95 9 405

(a) 89 (b) 90 (c) 94 (d) 99

ii) When we divide 13 440 by 35 we get:

 35 13 440 
(a) 378 (b) 381 (c) 384 (d) 386

iii) Divide 49 920 by 65 we get:  65 49 920

(a) 767 (b) 768 (c) 769 (d) 770

iv) When we divide 85 100 by 20 we get  20 85 100

(a) 4 268 (b) 4 325 (c) 4 355 (d) 4 255

v) 13 440  ÷  15 = ?

(a) 896 (b) 889 (c) 891 (d) 789

vi) Divide 28 550 by 50, we get:  50 28 550

(a) 50 (b) 60 (c) 70 (d) 80

Q.No.2. Divide the given numbers. (2 x 2 = 4) 
i) 73  81  ÷ 11

_________________________________________________________________

ii) 64  454  ÷ 32

_________________________________________________________________

Q.No.3. Solve the following. (1.5 x 2 = 3) 

i) 47  088  ÷ 48

__________________________________________________________________

ii) 10  125  ÷ 95

_________________________________________________________________
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